(4) 3 (Sem-1) HIS

(b) Estimate the achievements of 2013
Chandragupta Maurya.
vERY (TN FOPRI Lo 1 | HISTORY
(c) Assess the contribution of the Sungas to ( General )
the cultural history of ancient India. :
ofoRT SRS ARZET  TSrelE PR ( Early India up to 1200 AD )
SR SR 4ft Jom 1 | . Full Marks : 60
(d) Briefly describe the central Time : 2% hours
administrative system of the Guptas.
BT R R D AT A | The figures in the margin indicate full marks

for the questions

(e) Assess the religious condition of India
during the period of Harshavardhana.

TN (] FNIORTS SR &9F =N aft Answer either in English or in Assamese
TR ST |

Answer all questions

‘ L 1. Answer the following in one word or
(f) Assess the contribution of the Cholas to . 1x7=7

the art and culture of Indian society.
SO el SRFROCA  (OEPIRCE  SISICEIEl

HTHIPRR R 911 (a) Name the main cities of the Harappan
culture.

21 HSrO] A4 TIICPIIT A ol |

ToTs WAl oppTRa Tae @bt e [ e e

* k&
(b) What are the four Vedas?

vy @ ¢ 52

(c) Who was the last Tirthankara?
RIS SIFT (I IR 2
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(2) (3)

(d) Name the ancient capital of Magadha. 3. Write short notes on any three of the

o1 SR AL = L7 | following : 5x3=15
ToTe Tea 1 [/ (i FoRbR o G fer
(e) Who was the last ruler of the Nanda

dynasty? (a) Social condition of the Kushan period
TW I T MR (P SIMRE 2 T Y51 AN S=Z

() Who were the Satavahanas?

(b) Literature of the Gupta period
SRR (T ST 2

BAYSF IS
(g) Who wrote, Surya Siddhanta?
32277 PaEs IS @ HiRe 2 (c) Fa-Hien’s account
%1-fargms Rawa
2. Write in brief on the following : 2x4=8 (d) Chalukyas
woTe i REepTes ev19e 590 fordt » >
@ To;;;rn planning system of Harappan (e) Arab invasion of Sindh
culture
] SPE P Sl
T3] SOOI 79[ ARPEA TIZPHR

[ep B SomuCit OF Mete Age 4. Answer any three of the following questions :

A Por S sl 10x3=30

were fuan R cprean FofG! e Te forn -

{c) Principles of Buddhism

(Traaaq o2

(d) Janapadas
w {

(a) Describe the political condition of India
in the 6th century BC.
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